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1. Shinku-La tunnel pertaina to which of the following 7

IA) Sikkdim (B) Ladukh

(C) Jameu and Keshmir i} Himachnl Pradesh
fofw-n qin fesofon 4 B fewh vl § 7

iA) fetmes (B)

¢y el wrdh my fromes win

2 Dngital Indin Act, 2023 will replace which of the fallowing 7
(A} Information Technology Act, H008
(B) Information Technology Act, 2020
(C) Information Technalogy Act, 2000
(D) Information Technology Act. 2011
fefwrm dhem sfufram, 2003 Frediefin o & fymed W 3 2
iA) g o) wfefem, 008
() gwa ddifent xfisfrem, 2000
(D) wpeen sheifeg sifiefens, 2014
3 “livaka Chintamani” WAL WTLEn BY i

LA} Seethalni Sathanar (B} Tirattakkatovar
(C), Dundin D) None of thess
“’_ﬁn.'m"- ................... .o femn o
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iC) wha v o T
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Hangar alluviom solls are ales kndwn & -

(A) Losein By Kankars
(€ Vertiaals (D) Hegur
wm wehr ford W wm wm b

(A) e (R) W=t

() whkeim iy b

Jhelum river riees from :

- (Al Wular lnkeo (Bl Thal lxko
(01 Verinag spring D) Potwar platean
om0 W wm o
(A) " wim (B) wm gfhe

() Hten wrm (D) ubram W
Um-mcmmmmmﬁmumu;wm
Sactions (EWS) was given 7

(A1 95 Amendment (B) 103™ Amendment

() 104% Amendasent D) 105™ Amendment

frn Winefys SThe om * anfthe ey & Wi el (Lrwg o W mew e
k7

(A) i wrrite (B 1ok s

() voad vy i
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g Under which Article of the Conatitution a Speaker allows any member Lo sprak
in Parlizment In hisher mather bangusge
(A} Articlo 19(1) (B} Article J43(1)

{C) Article 12041} D) Arthela 21001)

wirgn # fan vqeie % sepe svaw ferlt o w) s A alh e 8 e
= wpdh we w=m b7

LA} ST 19(1) (B =yedE 343{1)

(C) St 120(1) (Lyy e 240 1)

B. Which arganisation relenses the SDi India-lodes) which comprehensively
documents the progress made by India's Statin and Uneon Territaries towards
implementing the 2030 SDG tarpets
(A} RBI (Bl NITI Aayeg
{C) NIPFP M SERBI
wrnn R TRl ffeastien wd wm k@ 0w woidad Al W oA W
Wl R @ e % e st v S gn g i w e

wm k7
tA) vt fral (B iy s
() i {0 el
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B. 'What is the correct ascendang order of Indian Slates oo the basis of the poveriy
headeount ratio (PHE) as per the Natumal Mulinboenmonal Poverty Indox
muemvured by NITI Aaysg 7
(A} Rajasthan, Madhya Pradesh, Uttar Pradesh, Bihar
(B} Madhya Pradesh, Uttar Pradesh, Bihar, Rajasthan
() Bihar, Rajasthan, Madhys Pradesh, Uttar Pradesh
(M IMitar Pradesh, Bihar, Rajasthan, Medhya Prodesh
Wit WM oW W T T e nihl gusis @ g i brardz s
(dhmam) & w51 Wl e Wl wen wmowm k7
(B) o wim, Tew ukw, fep, Twne
() T, Tamary, may gitn, o win
My e win, few, waeem, ma w

10, Lithosphers is keown as

LAY Ablotic compaonient (B, Riotie component

{C) Both (A} and (B () Neither (A} ner (B)

ferdetnr foe & vy F wm oW B

A whies W (R) s wrw

() Ay sl (py ol (M) (A} o By 2 A
11, Firat comprahenaive population policy was announced by Government of Indin

il

(A) BE April, 1974 By 16 April, 1976

(W) 18 April, 1976 @) 168 April, 1677
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(A) 18 L T (B 16 W, s

) qe wlm, et M 16 WM, w
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12 Inatituts of Forest Haodiversaty w located at

(A} Dehradun (B}  Allahabad
{C) Hyderabad (¥} Ehimla

I fafnen e v T fam kD

Ay Ewgy (B) Ve

(C) Toervme (D} Tereen

1. The greatest worldwide use of water ia for -

LAY Terigeition () Industry

(C) Haman consumplion () Washing ind Nushing toilets

Araw v w owh W oweh W oI §

(A feemg (B) M

C) e W My w vinesn v
14. Which of the following is & biclic composent ?

H.JEﬁil (B} Alr

€} Animal D Water

frffam 4 A wem Mow ww & 2

(A) P (B} g

() * @) ™
TBC: 23P1—A g



15. International Day of Forests, 2023 pertains to the theme of :
{A) Foresis und Energy
(B} Forests and Health
{0} Forests and sestainable production
(1) Forostz and Hodivorsly
smiim Wt 200 feen feen d e § 2
(A) w1 o=
(B w1 @ wnee
(0 W i e T
(D sbr S fiefirem
18, Temperste grasslands of Africa are known as |

AY The Stoppes .mmmg
(C) The Downa 0" Tha Pampas
i o v wm & Tl o8 W wm &
(A} Wi l,'ﬂbﬁ'l
() W= n) wemg

17, Who was the first Pressdent of Himalayan Hill States Regional Council (formed
im 1548 7

AY Bhivanund Ramaul (B} Pandit Padam Dev

(C} Swumi Purnanand () Shyam Singh Negi

fesman fiem n freem wrifesr (e 3 wfan) & oem anaw ¥ @ 7
(A frrarer Tehm (B} e T

() Ty et Dy Tam T a0
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18, Dhslra-Rwar rovolt feok place under the leadorahip of ..comimimn,

19.

(A} Shobba Ham (B} Rans Hardev Singh
it7) Han Hahadur Singh i Mone of thoss
wren-mar foge fek e f gEm oW 7

(A} Ting Tm (B) e wigw A

(Ch o wEry e M v f e o
Who became the Chiel Minister of Himachal Pradesh for maximum times 7
(A) Y5, Parmar (B} Virbhadra Singh
(C) Shanta Kumar (D) Thakur Hamial
fremee wim 4 wwfies g TR e ww )

(A} W TR TR (B) ey ferg

(C) =N () wmrr

Winnuwing refiers to :

(A) Beparntion of grain from stalk

(H) Separation of components from masture
(0} Separation of large sized impuritios
(D} Beparation of walar sapeur from lguid
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21. Given bolow are lwo slalements

Statemont 11 Guti Shakyi digital platfaorm involves the creation of o cinimon
umbrella platform through which infrastructure projects can
be planned and implementad.

mmﬂ:{hﬂﬂh.lhhﬂiﬁhlﬂiﬂumhh-dﬂnlﬂhipﬂlm

Tn the light of the abuove statementa, choose the most approprisle answer fram

the optican given below

(A) Both Siatsment | and Statement I are cormect

(B} Both Statément | and Statement 11 are incorrect

1mmllummmmutﬂi-iw

([0 Statement 1 @8 incorreet and Statement I i» cnrroct
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2%, CGiiven below aro two siatementa |
ﬂlﬂmml:ﬂm:hﬂ-immlumthﬂiuﬂnﬁumﬂ
Eﬁﬂmtﬂlhﬂlmﬂﬂlﬂﬂmﬂwlﬂﬂﬂwmiﬁluﬂl,

In the light of the above statemonts, chooss the maost approgriate answer from
the options given balaw
(Al Beth Statement | and Statement 11 are correct
{B) Both Statement | and Statement 11 are borroct
:nrmthmmmumauum
mlhmn;lhimnmmﬂuuntnuw
D wws g g § |
BN 1 v fier wh qpevm o od W o
Wy 0l ¢ A (o) Wi w3 aqeel e o owpn 4L
Tt B % e G R T et § @ e e oW
wiftel
(AY WOy 138t wwm 0] ©F mh §
By ®91 1 5 wwe (] 208 v B
(C) W ] T R w1 e &
(D wwt | mem & ol wem oowd §
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;l. Given below are two statements

Statement 1 : “ﬂlﬂ?ﬂwﬂlinlﬂrdihlﬂ:rﬂiﬁmmhlﬁhﬂ
W—E&-mhwﬁrhmﬂm

mmlﬂ:'hwnﬂﬂﬂfndﬁlﬁmul'ﬂflrd'lnﬁlpﬂﬂmmﬂflﬂT—
Hnllﬂturrm“ﬂlmﬂflnrﬂflnﬂ!pmﬂcnm'
— Btatement by B.G. Majumdar.

In the light of the above atatemsents, choose the mast approprate SRswer frodm

the optsons gven belew -

A} Both Statement | ond Statement 11 are cormect

if Hoth Statement | and Statement 11 are incorrect

(C} Statement | is correct and Statement 11 is ingerrect

T Statement | s incorrect and Statement 11 s eorrect
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M. Given below are two statements - %
Siatement 1 o M!M*ﬁlﬂlmﬂmﬂuﬁm
MIHIﬂlﬂhmmh'ahmﬁHdnthuﬁmhrﬂth.hﬂlu

[ymasty of Kashmir.
In the light of the ubevs Matéments, chovse the most spproprinto answor from
the options given below -
fﬂmmltiuﬂﬂmllllﬂw
tHhBﬂhﬂimHmdmumnmimm ‘
fﬂ}ﬂnhmtlinmmniﬁdﬁhhmmﬂhm
M) Btatement 1 is incorrect and Statement I]  correct
% W ko ¥ -
WY 1 CE - fie ool W T A R
mnwi-mh'a'!mtm:ﬂnmﬁmh-h
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-
=5 " Given bolow are two statements
Btatement | 1 President can dissolve the Lok Sabha on the advice of Speaker.

Statement 11 : Hajys Sabha under Artiche 312 enpoys special power to appoind
members of Humnan Rights Comamdesion.

In the light of the above stutements, choass the most appropriate anawer from

the options given below

Al Hath Statement 1 apd Siateront [l am correct

{B) Both Statement | and Statement 11 are ineorrect

(C) Statement 1 i corpoct and Statommnt 11 is incorrect

() Statement I is incorrect and Statement 11 ks correct
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26. Given balow are two statements - o
Statement [ : Nationnl mrm-dng-b-dhglhﬂr-umuumuym
22 duly. 1947

Statement II : Neelom Sanjiva Reddy has alse worked ns Speaker, Lok Sahha
prier @ his election as President of [ndin

(A} Both Statement [ and Statemeni I sre correct

(B} Both Statement I and Statement 1 are {ncormect

il &uhmtllhmmﬂmlw#ﬂ“hm

(D) Bustement 1 ja incarrect and Statement [1 is-correct

o we g o

w1 WO A Y o we, R ﬂ,mﬂuﬂl&ﬂﬂm_m

MIﬂimm;ﬁHﬂMEﬁmﬂmmw
wifed .
(A) W T wyd 71 St omi §
(B) wmm [ 8 www 11 9 vem B
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7. Given below are Lwe statemeanta 1

Htatement 1 : strong Sustainability Rule is & nals which requines & separate
mmmmdmhumrﬂﬂ{ﬂulmmmm
to be complements rather than substitutes.

Swatement 11 . Wenk Sustainnbility is & rube which seeks to mamtain the
wmuluﬂmmﬂuﬂim-mh.
ansumning & high degres of substitutabality among the wanous
nasét types.

hmhmufdudmﬂmmdumtmﬂm-mumwrfmm

the options given below :

(A} Hoth Statement | and Statement [T are corroct

(B} Both Statément | and Statement I are incorvect,

(C} mhmmlhmd.ndﬂumntumhmwﬂ

(D} Statement T is incorrect and Statoment 11 i correct

iy % ®mw Prg o §

w1 : e e = o dwm e b femd fa e et W wew

M#n‘mﬂ!ﬂﬁMMlﬂ-ﬂmh‘tW
% wum 7w B
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wre whemm ot e fd B
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(&) ®u | o w11 O owd R

) w1 by w11 9 e §
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(D) wws | e koot w1 w# b
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28, Given below are two slatements °

Statement 1 : The theery of Unbalanced Growth wan ndvoeated by Prof
Hirschman.

Statoment 11 i The theory of Unhalanoed Growth states that investoyent should
h-ﬁmmmumhuh-&nufth:rmmﬂﬁm
have a high dogree of complementarity, Dnoe, the grocess of
growth is initiated, it will sproad to other soctars through
forwnrd and backward linkagys.

In tha light of the abeve atabrinonts, choose the moe: appropriste answer from
thé eplions gives bolow |

(A} Both Sintement | and Siatemant 11 are correet

(B} Bath Statement | and Statement 1l are incorrect,

() Btatement | is corvect and Statoment 11 s insdrrect

D} Seatemont [ 4 incorroct and Biatensent 1 (s osrrect

It o s e B ; ’

mnmmtmmm“mmqmm

mllr-ﬂiﬂﬁmfﬂmwhﬁﬁﬁfﬂlftfﬂnﬂmigﬁn
W A e e wfed fell e wm o wnrew B U wr fesr w
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of  (iven below wre two stalements :
Statement [ 1 ﬂwpuunupnfﬂnmllmlpdﬂﬁ-ruumnhm
in India as of 2021, is around §.3% of the Indian population.
Statement 11 lmmhmmhminhﬂnuulmiuummd%.
lnMImhthmmmwlmﬂum“rﬁum
the options given below -
(A} Eoth Statement | and Statement 11 are corpect
{B) Hoth Statement 1 and Stntement Il are ipcorrect
L] Hhumnlhm-ndﬂhmmtuuuw.
(D) Sesterent 1 s incorrect and Statement 1104 sorrest
i & wir feg o F |
w1 ;2001 mw w8 a5 i o Ted v g ¥ RimE w1 vheE S
wreimm w1 Fan 6.2 B
YT I 200 TE v d ween afE wr emm 0.8E% B
mﬁnﬁﬂmmﬁMWMi#mﬂpmwwﬂm:
(A w1k e 11 A e f
(my W | e w11 2 e B
(or wmee § gk oeh w11 v R

(D v 1 e ¥ ol woow 11 W@ b
THL : ZPI1—A 17 P.T.O.



. Given bolew are two stalvmmits |

Statement | ; Thmnwpuﬂhmrnhmnd:uhnmphﬁdlg_udm
wector in- Indin we of 2021 In nround 39% of the [ndian
population.’

‘Btatement Il 1 The percentagy of the posalntion that Jl'imﬁmﬂi‘;’ﬂﬂ
industrin} sector in Tndia ne of 3021 i arodsd M9 of the
lnchun population,

h*%ﬂﬂ#HUIhmmmmw"uHMImﬁnm

the aptions given bulow -

A} Both Siatement 1 and Statement I are corrset ()

(B) Both Statemont § and Statement 1 srw incor Q)\E

(G} Statomens T is eorrect and Statemsnt 11 in ’Q‘:

D} Suatemont | is incorrect i Stotemen 1Q Sereet

e oy ¥ .
w11 2021w s e 3 Q}vmmm'muh‘lllﬂnm
+ L B R

w11 sg001 = S #Q%S/hﬁﬁﬂ'n i W e it T




31 Given below are two stalements
Statement | i Kutch Biosphere Reserve is known for Indian wild ass.
Sistamant T1 : Nilgirl Biosphere Reserve ks lamous for Hed Pasda.
lnhMﬂMMn:mmMmmwmmmm
the options given bebow -
fA) Both Statement | and Statement 11 are correct
(B) Both Statement [ and Statement 1l are incorrect
() Gtatement T in correct and Statement 11 is incorreet
(D) Statsment | ia incorrect and Statement 11 is correct
a2 o Bg TR B -
wEY [ ¢ T Wiew hwhem o wdm dneh omi & fomowem amm
w1 ofefrdt el deize am wo P owiez b
weftfefors wodll & s o el nk foeed A T 3 Tn W e
wifad
(A} W) s w11 ol B
(B) %2 | o w11 2 e B
(C) & [ =f b 3 om0 &

W [em b oo oww 1R b
TBG : 23T1—A 15 P.T.O.



32 Given below are two statementa |
Statement | ¢ Most specios ln tie world go estinet brenuse humans kill them.
Statement 1T : The Western Ghats region harbours the largest global
population of Asian elephant.
lnthhﬂﬁﬂmtlmﬂmmﬂmmm-mpﬁmmrﬁm
the options grven below
(A) Both Statement | and Statement IT are corroct
(H) Both Seatemant | and Statesment 1T are imeorrest
(C) Statement | is eorrect and Statement I ls Incorrect’
D) Btatemont I is incorrect and Statement 11 is cormect
4 = wwy fog o B
w1 fem S sfewin wafeed fepn @ ouell e wpe = oo R R

w1 11 it we i e el w) TR sfes Meew osmedt W s
L 1]

vl el E s o AN ok vt S 4 # el e Tm oW
wrd

(A Wil 1. ¥ w11 o oWk

(B) = | s w2l vem £

) w1 Wl ksl owwm o &

D) & | mem & s wm [ R
TBC : 2P 1—A 20



3. Given below are two slabtsmemts :

Statement 1 @ Foroe has magnitude as well as direction.

Statement I ¢ Shding friction is amaller than stathe friction.

In the light of the above stutements, choose Lhe most appropriate answer from
the options given below -

(Al Both Statement | and Statement I are cormect

M Both Swuatement | and Statement 1 are incorrect

(0} Statoment | 48 correct and Statoment [1 |8 incorrece

(0} Statement [ is incorrect and Statement 11 is correct

4 @ % fey o €

s 1 g wn ow stoms vm B ool ogh )

w11 ol wim pifee wdwe D owm dm k)

mftfefom el & e o 9 foed wh el 4 B el e TR W Tm
wifw -

(A W | o8 wm el omh §

(B) Wi [ o w11 9 mom 8

(07w | wit & o w1 vem b

M) s | wem o owem [ me b

TBE = 23 T—A 21 PT.O,



44, Given below are twa stlalemsents |
Statemant I : The materinls which allow heat to pass through them sasily
are called neulstors
Btatement I1 ; The range of temperature in clinical thermometer is from 32°C
o 430,
In the light of the above statements, choose the most appropriate answer from
the options given bolew
(Al Both Statesent | and Statement 1 s correct
(B) HBoth Statemsent [ and Statement 11 are incorrect
(C) Statenieal | i correct and Slatement [l i incorrect
I Statemoent | @ sncorrect and Statement 11 s eorrect
il A wun fen omy F
waA § o o w9 B iR e W ame A vl B R e e
e 1)
w1 il sl § moom W ite 30 # 40 Bm K
wftfeton sl & s w9 &R v fawedt 4 % v e TR oW e
wifwh
(A) e | Rt wey I O omh R
(B % 1 3% wen [ & v
) weE 1w b oalt www o ovem &
T wwg ] me & ol owwr 11 Wi R
THC : 2P 1A 2
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Ah.  fven beliw are two slalicnenls e ry

Statement | : Responsibie wen of Artifical Lntelligrnen . tho Military
(REALM-2023) Sumimit was Leld i Hagus: 4'";

H-ll.l“lrn Mﬁuuﬂﬂ:ﬂ-lnuh T

In the lighl of the above Matoments. chooss the most
mnﬂmlﬂmnmm& '
.ml%ﬂmluummru ﬂ’pm (7

F.E_Hﬁuunmﬂllm-&mwm.nqé‘ u#
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40w ey 6 A0 i
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J6. Given below are two etatements ©
Statement [ : Sheffisld city in England is famoas for films,
Bimtement 11 1 Oports city in Portugal is koown for il Geld.
In the light of the above statements, choose the most appropriale answer from
the options given below -
{A) Both Sttement 1 and Statement [1 ame correct
M) Both Statement [ and Statement Il are incorsect
(C) Statement 1 & corsect and Staremant 1T s inoorrest
) Statement I is incorrect and Statement 11 is mornoct
ol ¥ W e o f -
w1 ¢ v w1 Wi e foedl & g oo oww k)
w11 opime w airdmd e i il & B owmp b
waftfefon wedll & s o AfeR vk feerdt 4 A wwl ofer T oW W
wifeR
(AT W oot wu [] Ol wl B
(B} %% 1 3w 11 2eh e #
{C) Wt | WA b o w1 vem b
my'm:mtnhwunﬁt

TBL : BH—A 24



7. Given below are two statemonis |

Siatament [ : The ancent Kulindas had a Republican form 'of Oevermment.

Statement 11 : The Kojos of Chamba belonged to the Chandra (Lonar) line
of the Hajpats.

In the light of the above statements. choose the most spproprists answer from

the options given below -

(A) Both Seatement | ond Stateeent 11 are corres

(B} Both SBiatement | and Statement 11 are indormect

(C) Statement I in correct and Statemsont 1T s incarrect

D) Statsment I i incorrect and Stotement I s correct

o 2 oway ey o B

wuy [ ; ol wferr wh o vmm g A

wan Il o5 F oW oAl € ey i &

weftfirfor wedl & s LA frd vd fawed 4 A TR Thwm TR W O

wifad .

LAy e | s owxm 1) 4eE it B

(B) wut [ 3 w1 ol vm K

oy w1l ko e poem &

(D) wwy [ mom ¥ sin wew [ ™ R

TROC : 2aP1—A a5 PTO.



38, (Hven bolow are two atalomants : = ; y -

L]

Statesnent 1 1 Chaaden Tal ke i Lohoul a6d St distrct of Hinmchal
o Poadesh ln bt 6000 m sbove wa vl
Statement 1T ¢« Surng Tai lake 1 Ehis momirow il Spith mver in Himachal Dieailedls.
415 the Mghtofthe ahove stutsments, choomn the mae mppvering, s ro
th aptions given below :

(A) Both Statermwnt | and Saatemant 11 are soemws

&

i a;>l"
& 9

(Ch Statemont | correct und Staternent ﬂ,qp m-.-rrm \{(7

(D} istesscnt 1 s Incarrvet an Fammlnlﬂ'nwﬁl

9w © Q

mnm##miﬂ:ﬁfhﬁi"- %ﬂﬂiﬂ#ﬁ#;ﬂi
ir‘#dmﬁm;ﬁ ‘\g\% e -fege

e whﬂ-hh'ﬂqw.\-m AT WA 0 g by

et m‘.%w@%-mmﬁﬁﬁﬁaw

& "




8. Gaven below are tws stalemenis ©

Statement 1 + Bara Lacha Pass in Himachal Pradesh connects the Manali
with Kazs.

Statement I1 1 Senapani is the longest glacter of the Fir Panjal range near
Hehtang Fues.

In the light of the alwve stateménts, choose the most nppropriate anewer fram

the aptians given below :

(A} Both Btatement | and Statemont 11 aré corroct

(B) Dwoth Statemaent [ and Statement Il are incormct

(C) Statement | i correct and Statemens 11 ia fncorrect

M) Statement 1 is incorrect and Statengent 11is correct

At % ww g o § o

ml;ﬁmﬂnmm‘EﬂMﬁmﬁﬁmtl

wun 1l s¥rmdt Semm ol W wm feen dn 93m 13 W o wp v b

weftfinfin wudl & spar w9 R wik faweed 4 @ T 3w oW W T

wfud

(A} R [ alt o [ 9 i B

() e | 3 wwma [ S nee

(Cy wa | owft & o wen [ T R

o way [ oerem B ooty owes 1wl B
- PEPI—A 7 PT.O



40, Given bolow are two statsments
Statement [ 1 Soldiers of Naxiri Rattalion (Corkhs Reginwont) mtunted in
Jutogh in Shimla started uprising in 1857,
Statement I : The sates of Koti and Balsan of Himachal oppaecd tha Dritish
rulers.

In the light of the abuve statements, choose the most appropriate answer froem
the options given below

(A) Both Statement | and Statement 11 are correct

(B} Both Statement | and Statemant 11 afe incorrect

(C) Statement I is correct and Statarsont 11 is incorreet
MWIHMMMIIIHM

i oh v o £

w1 : freem ® wdm F foe ol wfr (o thetz) # el 4 qssy 8
w fierer

w10 cfiemem o widt o wmeem T 3 G sl veeedt W fariw fem
wiffefm wolt ® s w1 AN foh o fewed @ F v e TRoW
wifnd ]
(A w1 o w1 0l wd
(B) wey 1 ol wew 1 & em £
(C) wet | wft § ot w11 oo &
D) == | wem & by w11 = B
THC : 22P1—A i



41. Arrange the following missions in India from newost b0 cldest .

{1} Vamde Bharat Mission i2Y  Kaverl Mission

{3 Misston Indradbanuah (4) Mipun Bharat Mission
Choose the correet answer from the aptione given below :
LAY (1), C3), (2D, (40 (B (20, (4], (1), (3]

(S (20, (4h, (3], (1) () (13, 43, £2), (32

urm & Peofafn foeell od 90 & g0t wm A ool wifed o
)y wd i @ wed feem

3 fem wee 4) Frgm wrs fim

o feq vy fewedf A @ wf Te W o Wi

CAY (13, (30, (2D, (&) (B o2, (an (1K 030

(Ch (20, (), (3], (1} (D) (0D, (4, (2N, (3F

42 Arrange the following schemes o chronological order from the ywar of
Iaunch :
(1) Make in India
(2} Natlonal Bkill Development Mission
(3) Startup India
(4} Prime Minster's Employment Gesemtion Progromme
Choost the orrec! answer from the options given below
LAY (40, (1), (20, €3) (B 4) (20, (3, (1)
() (1), €2), (4), (3) (I ), 14), (1), (3)
Frafafam densd ® 9@ woa wf @ wegwive Wt wedbe Wil
(1) %% W am
{3 v ffym
(&) T S e g wnden
dd By e feeedt # A wl T oW oy wifed -
(A (4} T1% (20, (30 (B (d), (25, 63 (1)
(Ch {14 2N (4} (3} (M 2, (4, (10, &3

TRC : ZAP1-—-A 8 P.T.0.



43, Mfﬂﬂﬂ!ﬂlﬂﬁl[ﬂl‘ﬂrﬂm:{urhnmhﬁmuhf;

(1) Lord Lansdowne (2} Lord Northbrook

(# Lord Juhn Lawrence 4) Lord Elgin 1

Chocse the correct anawer from the options glven bobow

(AN (), (3, C2), (1) (B} (4}, (2), (3, (1)

(G} (3, (), (2, (1) (63l (e, (1), 0

W™ T wroms W gy e

(1) = ¥ 2 vl Hdgw

@) = W (4) = i pan

dd fon vy e 6 R wRoom oW e e

(AT 4, 033, 2, (1) (H) i), (20, (3), (1)

() (30, (4), (20, (1) (00, ), (0,2
44 Arrange these Meodieval Hulers of Mewar iy’ chronalogizal ardar -

(1} Hamemir (28 Rooa Kumbha

{3) Rana Malkal id} Kana Lakha

Choose the correct angwer fraom the options given below |

CA) (4], (1), 13), (D) (BY (4, 3N (1), (2)

(G T10, Cdd, (3, (2) M (1), (4, G2, 03D

Mo day ¢ W owaw W TN TR

(1) W= (2 T

(3) T Hhew ) T wn

g Pl 3 b om T W g Wi

LAY ), (1), (30, () Ry () C3) (10, 1

(S L) (4D, (30 (3 M0 (1), (4) (20, (3

TBC : 23 P T=A Al



.
45 Arrange the following coal fields of India from North to South :

(1} Neyveli @ Uiarsar

@) Pnlana (4)  Haodwkot W ¢
Chooss the cormeed mpswer from the sptions given below
A (1, 20 (31 (4} By i, ), (1) 1) ‘.i
120, ¢4, G, (2 1) (D (L, (5 (20 (4) |
mimm#lirmiﬂnﬂﬂrm“
1) ek @

() wavn T i

it fry o fered € wl oW g wfeE c

(A C1), (4, L3, (@) ) (2, 1, ) \((7

(C) 4N, £8) (20 L1) u,a. t!:l (2,

46, Arrangs the following river basing 6f India from l.gh#-:.’qnhﬂm
kD mren - A &
(1) Pennar 2 ‘Iéko
) Kover: ) :
Chodsa the correct answer Trom L, given balow :
CAY 11, TR0, (), G YV, ),

URE: PRI TR | ; EQ) (D) ), 02, 01 0

W Pt | wE R w e & s Wy owdven
o\ ?‘ | (@
3 T -]
i oyl i & Wl en w0t .
(i, &, @, () (R (2, 68, (40, 13 '
W r~ AR, 11 (06 (220 E10 (0

21 - PTO



47. As per Article 110 of the Constitution what is tros about meney bill

(1} Al the expenditure made by Prime Minister of India

(3} Imposition, nbolition, remission, sltoration or regulation of sny tax

(3 Appropriation of money out of consaliduted fund of India

{4) Custody of the consolidnted fund or contingeney fund of India, the payment
of money into or the withdrawal of money from any soch fund

Choose the correct snewer fram the opticns given below ©

LAY (2), (3) (4) (B (Z) and (4)

(0 (1, (2, (3 @ (3, 6,

g & el v & s o fem & o oem o k7

{1 wmr & 7w ol go few T wee e

@ fesht w o s, e g, Wovk = frfn

@ e o afen B & @ w9 w feten

(4) mﬁﬁnﬁﬁ‘thﬁ:ﬂhﬁm.mmmﬂﬂnm
ufmi#rﬂxﬁ;:mq

4 fr oy fewed 4 & owl oTm oW oy Wi

(A} 123, (33 (4 (B} (2 ¥ 4

(Ch (10, (2, 13 ([ (3, (4, (1)

TRC < 2P T—A Az



48. Arrange the following statements in proper chronologioal ardes -

(1} Reo #20 Summit which resulted in an suteoms document, *The Future We
Wans® in which stalos committed to develop a sulte of SDCs

2} Milleanium Summit which resulted in a set of targets like snvironmental
rustainability, the eradication of extreme poverty and equality for women
now known as MG,

(3} Brundilund Report, *Our Common Future” smphasised the seed for the
ntegration of economue development, envirenmental protection and social
justice and inclusion .

{4) mﬂmﬁlhrﬂhilmmﬂdmmﬁpim“ﬂmﬂtﬂuﬁuﬁ
to provide Gimancinl nesistanco to poor nationa, stricken by climate disaster

Chodde the rorreol answer from the oplions given below.

LAY (1), C2), 0B, (4) (B (80, (1), (4h, (3

() 4, o2, 13, £1) (05 £3h (20 41%.(4)

Fetfofam = ¥ I wnrEs 3 ey i

(1) frht o3 frm el famk wftereeres x owm o W Tw ow wremd
TR A g, feetorm el 8 ox e fiefm w0 &
W 4 .

12) vt frrern ydory ek ofpmereres Totarvire Mo, s i w
W wipmell ® B qom A Al W oo Ty s qEde % e A o=
R

() mﬂrm.“m.mm"nmm,mmmm
= ol whE ¥ e W sevem wowm e

(41 COP-2T fv andter farl wormg s @ wes it 298 W faln e v
T ® fm oty ofy wfy W osofe W owomeEm W

ﬂ'ﬂﬂﬁﬁﬂﬂ#ﬂﬂﬁﬁ1

CAY (1), (R, (B), (4) (B) (23, (1), (&), ()

(C) (8%, 020, (3, (1) (DY 3N, €20, (1), (4)
TBC : 23/ P1—A 33 P.T.O,



49. Arrange the following Schemes in proper chronological order of their
implementation
(1) Ayushman Bharat-FMJAY
27 Pradhan Mantri Ujjwals Yojana
i3) Pradhan Mantri Gati Shakti Yoana
(4) Pradhan Mantri Ganb Kalyan Anns Yojana
Choose the correct answer from the opliona given balow
(A} (1), L4}, (), (3) B ol o), (4 (3
(G (43 (2 (3N (1) M (3, (23, {13, (4)
Erfiion damell %) v wmcie W ofes w1 SR wifen
(1) Moy - v
(2 T E T S
(3 mam ol wi wie d@ES
() W o i e s e
i frm vy Pt & wh T oW o el

LAY (1), (43, (23, (3) (B) (2% (1),.04), 12)

(G} (40 02, (3, (1) ) (AT,
G0, Conslder the following states ©

1} Horynma (2 Punab

i@y Ulizar Pradesh {4).‘Hikar

With reference to the States mentioned above, in terma sex ratso-Fomale per
1000 males {according to census B011), which ane of the following is the correct
asconding ordér T Choose the correct anawer from the optiant given below

LAY (1), C2), (), (3) (B) (1), (2), (3), (4)

(0D (3, (4 000, (3 () ), (1h (30, (2}

facyiefam 778w fm wifed o

1) whm (2 T

(3 TN wEm (4) Yo
ity oo o e A, Ferrpam—fieen T 1000 RN (R mnia?m
& wed 4, foefifin § % oirem Wi o wm R 2 fri mh el & wh
'mtﬁ'i 2

A (1K 2, () (3 () (1), €21, (3), (4]

() 2N, (AN, C1CH) (M0 {40, (13, (83, (2}

TRLC : T3P i—A 34



51 Consider the following Acts and Policy :

i1} Water (Prevention and Contrel of Pollution? Act

{2) Water Cesn Acl

(¥ The National Water Policy

(4} Air (Prevention and Control of Pollutien) Act

With reference to the Acts and Policy menticned above, in terms of their starting
yéar, which ooe of the following is the rorrect ascending crder 7
mmhmulmnhmtunﬁmm beglow

CAD €D, €2, (40, (3} (B) {1, €2), (3), (W

(Ch (2, (4), (1), {3} (DY (4, €1, 130, <2
frofisfun st ofy Sl w1 feam v -

{1} W (WM % dwww abr fadr) afidres

(2) wm T e

(3 i i

(4) WY (W W deem e friwe) sfideey
mm%ﬂmﬂitﬂi.#mﬂ.ﬁﬁﬂi,m
A d dm ol i own )

h R wR fewed F d Wl T wfed

(A (13, @2, 0, (@ (B} (1), (2), (30, (4)

(3120, (4D, (1), (3 D} {43, (1), (@), ()

TBC - Z3P1—A oS P.T.O.



2 Aremnge the follewing conventhons in duronological order
11} Convenlian to combat desertification
(2} Convention on bislugieal diversity
(3 Convention an tmde in endangered apecion
i1 Convention an wotlanda
vy the cormecd anawer froim the options given bolow :
LAY (AN (30, (13 (2 (B) 1), (2, (3D, (4)
W LAy, CEL 0 01D (A (2N 0, (1)
sl w4 F freodafen el ® oien 30
i1y wemsimm @ fret & P sl
g Mo Prfinen W wShR
i e vl ® e 91 wehm
) wigfrd m o
@A fon o Pl 8 & wl e e gwe Wi
LAY [y, CRD, (b CED (B 1), 2, i3, ljli
() G40, 3, (3, (0 My (4, 42,00, 1)

53, Arrunge the following states in telation to porcentage of tho total arca under
foremt cuver from highest to lowest

11 Missrnm (@, Meghalaya

i@ Maonipar #)  Nagaland
{hocme Lhe curreed answer Trom the options given below
(A (40, G2, (1 65 (B} (13, (2, (41, (3
i i), 1':.-A|, (a1, id) (4 (3 @ (1)

pwagey & sl wR dwen O wiw @ ey Pofifes 7 9 Tewm R
ST e

T (3)

gy e (4) TR

B e feeed 4 D owh T g ol

LAY 4 2, 11D, (30 (I (10, (2, (40, ¢35
LD, L, (3, L) (N CAN, C3D, (25, (1)

TR - P 48



*1. Arrunge thee fellowing animal products in berms of pereent protoin from highess

tn lowost -

(1} {ow milk @) FEge

() Masat i4)  Fisk

Choose the rrree! answer from Lhe oplions given bolow ;
CAY Chh (2) (3D, (4) (B} 12N (4, (15, 13D
o0 L, o), (20, 00D My (1), (3, 12, i)
Frdedign o a0l o ohem 389 o) ow & = oW oww @ BY & wm 0 e
{11 "= 5y (8 #=m

Ay (4) Hed

&4 v o fewed & A wl oom o gm el

CAY (1), CE) (3), (4} (Y (20, (45 (1), OF)
OCh (R) (4), (2h (D (N (1), 13, (21, (4)

& Areange the folblowang international groups in order of thalr establishment from
older o pewer ;
(1) Paris Club
(2} Crganisation of Petroloum Baporting Countrics (OFECH
(0 Indo-Pacific Rigional Dislague (1R
(4} Wassenanr Arrangement -
Cheoso the correct answer from the aptions given bolow -

LAY €21, (4), (1), (3D ABF UL CEL (4 O

(0 (0N €20, (4 (3) ; (D (1) G2 130, (43

Frcedgn shmcdte wod o et vore % 3o O qod @ oy @ ww d e
wifad

i1 Yea wem

2 i faokw b W w s
@ g uwin s aw (i)

{41 T T

R P o fewed & @ owml T ow e ol

LAY T, (4), (1), (3) (B Ly, (E), (4, (2
e, o, ), ) (1), (2, 30, 4

THO : FUIVI—A 37 P T,



65, Arvangn the followeng desorts of world from smallest o langest in terms of Area

(1} Gobi (2} Thar

(3} Kalshari (4} Taklimakan
Cheope the correct answer from the options given below @
(A} (1), 2), (3), 14) (B) 4), {3), () (1)
() 3), (4), 43, (1) @y {1}, (3}, 2, (4D

foren o freebedirn wereed w drem W g A W ol W v T Wl o A
wfam W .

(1) =i (@ W

) e (4) i

9 frn o Preed 4 @ owl oo W g wited

(A (1), (2Z), 030, (4 (R} (4), (30, €3, (1)
{Ch €20, ), 130, (1) @ (1), ¢, (3, ()

57. Arrange thise eventa related to the Histary of Himachal Pradesh in chronalogical
order : \
(1) Mass Movement in Nalagarh (2) Land Movement of Sirmour
3 Peasant Movement in Theog  (4) Farmer Movement in Chamba
Choose the correer anawer from the aptisns given belew

(A) (20, €10, (), () (H) (10, (2, 5, (4)

() €1 €2 ¢4), (3) (2 (1) (3), )
e wim & wimow @ oA w ownsll o wegew vl
(1) Teung § we wifwy 2y Fordn @ i s
(3 fedm § feum widham (4) wom § feoe e
94 frg m fewed 4 @ Wl TR W W W

LAY 42}, {1} {4}, 13} (B) 1) (2 (30, (4)

(G (1), (20 14, (3) (D0 €, (1), (30, (4)

TBO : 23P1—A 38



:a. Among the follewing which is correct about Mandi conspirsey 7
(1) Mandi conspirsey took place under the leadership of Gadar Party in 1914-15
(2} hﬁﬁﬂrﬁﬂ:mmmmhmﬂwrmm
ami Sukeol Siates
{3} Mivan Jawahar and Queen of Mondi Khairgarhi eame under their influenee
4} In this venture members of Gadar Party wore successful
Chooss the correct aniwer from the optians given below |
(A (1), (23, (3 (H) §2, i3 (4
(C) (33, (), (1) (n Ifi!l.md-fil"
Fraffom 3 & 7t weow % oWl v owh k2
(1) Wl wEEw 15415 8 W wh R Sy 4 g
2 v A O we R wee S o g ol o ke i e iy
@ Fou wap w w s W oer T wed ol g
) w0 o 4 pm o € weed W wwew fieh
i foy g frewdt @ @ wl T W Em W
(A} (10, (23, ) (B (2), (3, (4)

(G333, (), (1) M (4 o i
THE : 23T—A A% PT.O



59. Towards ite journoy to become full stote what is correct about Himack ]
Pradesh 7
(1) It became Chief Commissioner's Province in 1948
2} It became Union Territory in 1958
(3 1 got its first Chied Minister in 1067
(4] It beeame 18th State of the Union in 1971
Choose the correct anewer from the options given below :
LA} {13, €20, (3) (B) @), (4, (1)
(C) (1) (2) (&) a3, (2N, )
firrem 7w W ol T W v e W e @ e A e w7
(1) U thad § go0 Wger 3 W= aw
2 T w3 § i #n .
(3 v wTn TEm me W ey § fam
4 =y w oW e T own A @
i g g e B wl oTw oW gow elife .
CAY (1), (2), (3) (B (3 (4 (1
o) (1, @, W o (3% 020,
0. Arrange the following vlemenis in terms af thair atemie number fram lowast
1o higheat

(1) Carbon @ faypen

(3 Sodivm ) Silicon
Choose the correct answer from the options given bebow @
(A (4], (3], (23, (1) (B} {3), 4 {13 (D

(C) (30, (4), (1), (3] My (1), C2, (3D, (4)
Frafofe wefl o) e wrom dem @ sm ow B R wpk oww d oowhem
Wiy .

1) m (2) S

(3) W (41 frfirsts

46 fen T e 8 f ol TR W T W

(A} (1, @, (@, (1) (B) (3), (&), (1), L2}

0 (3 04500, (W My (1), 02, 3, 4

THC: 2AP1—A 4



-

sl Conseder the following stalemenis ©

i1} Nueclear onorgy contnbutos about 10F of the total electrnaty genoraton

in India
(2 India has 22 nutloar resctors in 7 power plants
(11 Nuclear energy is the fifth largest source of slectriclty in India
(4] The upmmung nuchenr power plant at Gorakhpur village portain ta Uttar
Pradesh
Choose the carsect answer T the options given Bolow
(A) (1) and (2} only (B 12} and {4) coly
i) (2) and (3) enly (DY (3 mnd (4% only
frefafn wodfl o fran wifad -
4§ miﬂﬁﬂmiW'#mﬁmmﬂlm ki
(@ ww % 7w e weh f 22 frewe
i v o unw . feedt oW el el wp e B
(4) e nie & s wre Sl wdw v win @ el B
&% fm oM foeed & @ Wl Tm W m owfE
LAy dwE (1) 30 (B e (20 814
(Ch o 2) o (3 Dy W (31 b (4)

TBO : S4TVI—A 41 PUTo



B2 Consider the following statoments
(1) Ken river pusses through Panna Tiger Reserve
(2) Ken-Hetwa hink s o mad network project
(1) Hem and Botwa are the tributaries of Chambal river
(dy Matatiln dam 18 lecated over Bstwa river
Chooss the correct answer from tho options piven holaw *
(A) [m-mmqlp (B} (1) and (4) only
0} (1) and (3) ouly (D) (2) mnd (4) only
freferteer ol m e wifad
(1) %% 251 +=n zpw fred @ ek &)
(2) dea-dn e e owgw beeed oftdors #)
() Wy ol e wee w6 oW wpes e §
(4) e ol dwm et o fem b
a4 o fewed & o8 oWl T oW v whiel
(A} W (2) o (B) W (1) 3 ()

i waE g sl o) (M) W 9) Al (4]
THO : 23P]—A 42



-
63, Conaider the following statoments

(1} Aligarh Scientific Society was founded by Zakir Hussaln in 1678
(2) Prarthana Samaj was established on 1568

t3) Paramhans Mandali was established on 1548

(4) Manav Dharm Sabha was established on 1544

Choose the correct answer from the options given below
(A} (3} and {4) only (B} (1) and (4) only
(C) (2) and (4) only (I (2) and (3) only
Fodafgn ol o1 fren wifeg

(1 ey wrlfew doe W worm wier gl 3 e 4 W
(2} wmbm wmw W wn oges 9 g

(3 whogw sl ¥ wwen gee o

() S ud T R OREY a4 8 B

d g e fwedt 4 B Wl T ow g Wit

(A} =8 (3) S 4 (B) oW (1) R 4
(C) wwe (g ol ) @ s (3 o (3

THC : 2AP1—A 43 PT.O



i

Consider the following statements : =

(11 “Toruk-4-Babiri™ was writlon in Pore Persion Languuge

(2) Powt Amir Khusro's first Masnavi oo Historieal subjeet s Qirnn-us-Saduin,
whith was wreillen in 128945

B8 SPhanghan Maospd® ot Jaunpur was built by Hussain Shah

(4} Bufi Baint Bidl Maula was put to death by Sultan Jolaluddin Khalji for
attempting a rebellion

Choosn the correcd answeor from the options given below

(A} (1) and (4) only (B) () and (4) only

() (2D anel 18 only . 2 mnd (4 anly

Frefedem woll w fean sifak -

) reu-wne feme wed umn f foan owe o _

@ =i ani wh o Sl feed o) A Tt T Bl b 9 e
A Bl ot

@ Wy § gl e w fretn ghe e 3 wom @

i4) m#hﬁhﬂwwmtmnmmtmﬂu
® O W MYe)

frdt foy m fewed 4 @ mi Te ow e wife

LAY W (1) o (4) (B W () o)

02 o (g, 3kt (3) ' M wwm ()

THC VRV —A 44
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65 Considor the following statoments -

(1) Congross Socialis? Parly was establiched o 1951

(2} The book “Marx, Gandhi and Socinlisn™ was written by Jaya Prakash

| —

(3) ‘Tha book *Radical Humaniss® was written by M.N. Ruy

(4) The book “Unhappy India™ was written by Lals Lajpat Mai

Chegse the correcl atewer [ram the oplions ginven bulow -

(A} (2) and i4) only (B} €2 and (3} only

(31 (1) and (4) only My G5 and (450 enly

frernfem Tl M fem ¥

(1} S dvfar o =) save w4 gl

¥ "M.ﬂﬁﬂﬁ"ﬁmmimm

@ “Heen wEire gew gR ey Gl o

m“mmr‘ﬁmmmmﬂlﬁnm

it fm omn feRed 4 R Ol T W W il

(Al %98 oy =i (4 (B} s (1 o

0w (1) o 4 D) B 3 o (4
THE ; 23TV I—A ih PT.O.



66. Consider the following statements :
(1} Brown coal is known as Tertiary coal in India.
() Lignite coal b supsrsor to peat in India.
(3) The largest lignite deposits of Indin are at Korba,
id) Michaham coal flald is locuted in Gujrat.
Chooks the correct answer from the options given below |
(A} (1) mnd (2) only (M (2 and (3) enly
() (3) and (4) only (D) (1) and (4) only
faeefinfin word w1 fem, WPl
(1) wem d 4 FTA WD e weR % wm § wn owm b
2 e f ferpe wiveen iz @ oam dm A
37 wm & fregz & wwd wk den owmow 9§
4 Progm s ay oo f feam by
9 fy omy feeed fF @ wl T oW pm Wi
(A} %m0 ¥ (3 (R e (3 A
() e i3 o (4 M) B (1) T4

87, Consider the follovang stabsimenks A
(1} Sardar Sarovar project is located on Sabarmati river of India.
%) Bhawani SBagar irrigntion project is loented in Erode district of Tamil Nadu.
9 Mnyurakashs irmgation projoct portados to Chambal river of Indis.
(4) Matatila project pertaing to Betwa river of India,
Choose the correct answer from the options given below !
(A) (1) and (2) only (B} {2) und (4) only
(C) () and (4) anly , () (1) and (3} only
frevforfiam wwlf wr fer wifark
(1) w) wrew win wicen s w fom B
(2 vt wm fiem i wieeng & i e 4 fam
(%) WEE W G T virien e e @ e b
(4} v # =t sfeen W wew dew w6 A b
5y firr o frwedt A Wl T oW g whfed .
(A} ke (1) obt (2 (B e (2 A )
o o (30 ) (Dp e (1

TBC : Z3P—A 4F



88, Congider the fllowing statements ;

(1) Conatitution’s §let umendment in related 1o the reduction in voting age.

{2} Constitution’s $3rd amendment i relatid to reservation for EWS categoey.

{3) Constitution's B6th amendment sdded Article 194 in thé Conetitution

t4) In 2002, duty of parents to provide education bs their children from 6 to
14 yoars was added.

Choose the correct answer from the sptisns givesn below |

(A) (1) and (2} only (8} 2} and (3) anly

(C) (3) and (4] only () {4} and (1] only

i sl v firem wifed

i iﬁm:rmﬂﬁﬂnmmlﬂﬂ'waum#ﬁhh

(Z) WaT W sl deiney anfew wm o waEn ol % s @ sden B

(@) whnen % el vivi & oo W § sy 194 Wp o

mmmim:mﬂﬁainﬂinﬁﬂﬂmﬂnm#p
TR

i fey P § B oWl TR W e W

(A} #wm (1) ol () (B} = (2) f (3)

{C) e (3) A qa) D wwm (4) o 1)
THC 1 22P1—A 47 PTO



69, Conasber U following statements
i1} Fart.lX was inseried in the constitution by 73rd constitutional amendment
G2 At 3D provides ressrvation o women in Gram Panchaysts
(3 Panchayats are not dependent on States For their bodgets.
(4} State logelature ean't make laws for suditing the accounts of Panchayata
{Chouse the covrest answer (rom the options given below |
(A} (1) mnd (2} only (B} 12) amd () oaly
W {3) and {4} only (D) 4) mnd (2] only
ffiafery wwdi w foom wifad
(1w & vm-Ix 7 wiinafee svine o oW o B
2 W=D e S § sl smam e owTm
ch A W o=t ow ek w6
i e % ez ¥ Tw e e ool o Eh
4 g T feeed A d mh TR W e v
(A) shwm (1) sl o) (B) v ) o )
() sk ) sl ) m) WA 4 e
70, Consider the following statements ; '
1) Artiche 340 of the Constitulion deals with the appointment of Camminsion
for Backward Classee.
@1 Articho 341 of the Constitution deals with Scheduled Tribes.
3 Artiche 342 of the Constitution s evinted to Scheduled Castes.
{41 Article H2A haz beon added theough 102Zed Constitutional amendmont.
Choose the rorreet answer {rom the options given bulow :
(A (1) and () enly (B} (2} mnd (3} only
() 15 and (4 anly (3 (1} and (4} waly
Prefinfegs wodll o fram 25TR -
(1), TP e Mo Trog wi % wmi wt Prgie @ owefim &
rly a1 arpas a0 sEmfen ey Aot B
G TR W e 142 Wb wfe R owsfa ¥
() e LA wfawm & ool wiafs wene om @t v b
o4 fer m feew 4 F oWl T W T Wi
VR = ST ] (W) e (2 okt Gl

AR () o i) D) = (1) = 4
THE ; EVTI—A i



T1. With reference ta the Werld Development Roport 1953, improved health contributes

0 eonnomie growth in four ways, consider the following statements |

1) 1t reduces production lesses couaed by wocher illacss

(20 It doeriasee the enrolment of ehildren in echools and makea them worss
ey

{3 It permits the use of naturn]l resources that had been totally or nearly

inacoessible because of discase

(4} It decronses for altornative uses resources that would otherwise have to
ba epunit on treating Hlvess

Chasas the correct anawer from the optiome given below

(A} (1) and (4} only (B} {1} and m_qﬁlr

(G (1) and (2) only DY (2 and M4} only

foen T frdd 1emn & dnd 4, on w4 afis e 3 dmnm

2m &, Frdivton st s P s

1) W wfer dmd F ww B o e e W W vk

(2 W v f w8 Ty W owy wrm ool = e f e e 8

(3 W T wEhE wwwd o wrm ot e tm b oW e % w0 om
™ i A

mynimﬂihﬂnnhihqnirmtﬂmihﬂri
R W ad wen g

ﬂh'ﬂ':'M*%ﬂmuwﬂH:

(A} e (1) abr (4 (B) W (1) o i3)

(C W (1) R (2) (M) w2 W)

THC: 2P l—A 44 P10,



72, Consider the following statomenta ;
(1) The average tomporatue of India has incronsed by about 0. 7°C since 15901,
(2} India will get its nonfosst]l energy capacity to 550 GW by 2050,
K1) I?Hlliﬂhm-mh-ml_ﬂlwmlurlhmrhﬂﬂm
14) Indis will schieve the target of Net mmmwmm
Chooss the correet answer from the epticns gvon below :
LA 3 and (4) only (B m.uumﬁ-d:\{(.)
{(C) £2) and {4} enly {00 4 and m.ﬂ?J
fetfirftan wodl o fire Witk &Q\Q
{1 mﬁm#mihmiv \Vﬂrﬂlhl‘tﬂllh

N

(2 mmmmﬁiﬁ-mf\v}mmﬁwmmnm|
N\

(3) 2w § sk frey :.'r‘igjﬁm treran ol W ey S
O

\ \J .
(4} =ma 2370 wE v w Al W Mem efE wT A
mﬁ ‘%;

\“é y / {

#mnwﬂﬂ

(R e (1) ol o)

oy om0 Al (i)

50



-

Ti. Connider the following statementa
11} Protozosns cause serious diseases like dysentery.
2} Al microorganisms grow on our food and cause’ food podsoning.
{31 Microvrganisms can live in desert environment
{4} All microorganisms are wseful for commaerdal production of medicines and
nleohol.
Choose tvw correer answer from the options given bulow -
(A} (2} and {4} only (B (1) and (4) anly
() (1) and (3 ooly D) 2} sad 3) only
Frefirbn wedl = faw wifed .
(1) sl wbom A I e wd §
i2) wft Penim gt vdom w feoe wr &) 1
(3 ferim s § wham § e o et
). T R iy T qeeien % wiwhew s § wvi £
i B oy feerd 2 % Wt TR W T Wi
(A) rm (2) 0 (4) (B} wwm (1) ¥ (4)

i) (1) o (3 M) www (25 ¥ (3)
TRC 23 P1—A 51 FT.O.



74. Consider the following statemonts -
{1} Manure and fertilizers are the main source of nutrient supply to crops.
12 Inerganse farming is practised with minimal use of fertilivers and pesticides.
i3 Growing of diferent crops on a péece of land 1o pre-plonned succossion i
eilbod intereropping.
(4} Bee-heepng ia done to got wax.,
Cheose the correct anewer from the options grven belew
(AY (1) and (21 only B (3 nnad (4) only
(C) (2) and (3) only M) (1) and (4) only
frofrfm el fore w1
(1) wrm & fim sl & o @ ww omn owRE B
(2 sernifaw e sdoed me el & frem wim A owl Wit K

.

(4) el wer v ow) ww wed & fern fem W ¥

#ri fow o Sl of & T W T wifaR

(A} W (1) ol (2 (@1 o (3 o

() wum {2) 487 3] (D) W= (1) W4

76. Consider the following statements - _ v

(1) Indin became n member of Wassenonr Arrangeeent in 2023,

{(2) The 17th Asin Pocific Regonal Mesting wnd hald in Singapore.

{3} The Sth India-Oman Steategic Dialogos will be conducted in Crman in 2024.

{4 Unuﬁuutlhnfpnm#ﬂﬁtmhﬂ'ﬂﬂ#ﬂurwmhﬂlw
about 20% of its oil imports,

Choose the correef answer from the optwons given below :

tA) (1) and (2} omly ’ (A1 {3 and (4) only

(€} (2) and (3) only ‘ (D (1} and {3} oaly

Freafufon wo T S W

(1) WSt HTET wpTER O 2073 6 WEER W VT

(@1 et vipm uwwin @i & Riomg @ smdfm wh

() wd poaq i @ ol wrm-sdmm rebfee wed swdfen W omle

{41 s Temsey wesaeng & v g w0 b e werm B arm ww ey e
W EE e s owoom B

i oM fawed @ A W A W e Wi -
(A} W (1) Al (D) (B ®wm (3 o (4)

::}@iimm-:hm D} S (1) )

TBC : 24P1—A )
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76, CTonsider the following sintoments :
(1} Sugarcans is chiefly grown in Russia
(2) Ashestos are mainly found in Canada
(3 Copper is chiefly produced in Chile,
(4] Black soils are majorly required for the cultivation of coffes,
(A) (1) and (2) only (Bl (2) and (3) anly
(C) (2) and (4) only (N (3) and i4) only
frfafpn swd w fram el .
1) =n e T A T W b
@ ey (deea) geen: wwn oo wd
(3) vhe weom; ferht F S dm k)
1;1_mnmmtm1-mmmmmtrmmh
il g v feerd 4 & wl T W ew wid
(A) Wwm (1) sh (2) (B W (2) ¥ (3

(5 e (2 ) i e (35 o (4
TBC : FAP1—A 53 FT.O.



77. Consider the following statoments

i1} In Himachal Pradeah. Grant from the Centrs s the highesi peroentage
of Pevense reosipli

#) In Himachal Pradesh, non-tax revenun is likely to increase to He. 3,769
erore in FY 3022-23 (BE).

{4) In Himnchal Pradesh. the tax revenoe growth rate is estimated at 1084
per cont in FY 2022-23 (BE).

4) In Himachal Pradesh, growth of subsidy expenditure is estimated to be
4.44 per cont in FY 2022-23 (BE).

Choose thoe correed answer from the options given helow -

(A} (1) and (3} only (B} (2} and (1) enly

(C) (1) and (Z) only (mn muduhﬁ-.u-

Frafofem sl w0 fw =it

(1) ferem wm 4 gy piad o ooffes wiem @ & we sm W E

(2 firam v #, frow e wper few ond 200923 ol § 9,760 =iy . W

W wmE b

(@) frmrem wim F e ol 200023 (b § wt owea g €t 10,64 i o
w =k

(4 fomaer wim & fae ol 022-23 o) # wfendt and F 444 v # iz W
ape §

ﬂﬂt‘ﬂmﬂr&ﬁmwwﬂm|

A) wEe (1) A8 () (R) ®aa o2) a(q)

() W (1) ol (2) () e () o (4)

TBC : TPI—A &4



Y
5. Conssder the following statoments :

(1) Himachal Pradesh was ranksd 16th eut of 36 StateaUTa/Cition in Export
Froparedaves laidex 2021.

i Whnﬂhmmuﬁhmﬁmmﬁuiumw
Indox 2L, L’

mmm-ﬁ:mmmumnwmﬂ-mﬁipdum
Up Ieifia schama during this financisl year 2072520,

4] Bunks have funded 44,305 farmers through Kisan Credit Cards during
022D

! ﬂunulhmwmﬁmﬂunpmmﬂmhhw(_7

LAY (1) meed (33 only . (R} ) mod 12'3?;:'@”

G (1 and G ondy (19 TR T T ’

et W m e 9T O

11}ﬂﬁmwmuﬁm6§ﬂHMHIMﬂ
15 mpy fee,

mhmmm|wuﬁum1muﬂh

%) Wl & m finfy ad & vy whe e dem o we 476 T e
m'mhmﬁ%qntﬂh

200 W G teTer Fi W % T 44,598 e @ fe

SREE  EECRLR
(B Q) o

My wER m S )
R _ PTO.



74, Conabder the following statements :
{1} The sex ratio in the state fs 972 femnles por 1000 moles, which is hagher
than the naticnal avernge of 940 fomales per 1000 males.
{2) Service Is the primary coropation of people in Himachal Pradesh, sith over
W of the population dependent on it for their Hvelibood.
{47 Himarhal Pradesh has a per capita income of Rs. 3,538,389, which is lrigher
than the nalivasl average

(41 The state has a high Human Developmans Index (HDL of 0.707, which
in higher than the national average of 0.640,

Choose the correef answer from the optiona giveln bobow o

(A (1) mnd (4) only (K (L) ---|.|:I|:1:r.:.|'n:|_-.I

(C) (1) and (21 only (I cmuﬂﬂmr

feefiaforn wud o fear wiFd

{l}ﬂiwmtmﬁﬂtmﬂfﬁﬁﬂﬂt.tﬂlmmm
w1000 T B owfew E '

2 Srem v & A ol wefes s §, 90% # ofiee s seoft smiftfewn
* fag TR it by

() feumam giw o -.ﬂt‘iiu-!h Wy AGSA60 T koW v ofee @ wfiew ¥

4 wmnmmm;m} 0707 B, @ mde i 0640

ﬁ' wfiow &1
o Py e § A wRoTE W T
(A} s (1) e ) B wE (1) Ak i
n:;,-.im (1) ot (2 @) e () o (4

TBO : ST I—A A&



-
80, Considor the following stotoments ;
(1) The rainiest dietrict in Himachal Pradosh s Kangra.

(2} Rainfall in the Alpioe regon of Himachal Pradesh wories befweon

00500 i,
(3} Winter seasou in Himachal Pradesh extends from Ocwber to March.
(4) Mandi is the hottest place in Himachal Pradesh.
Chooks the corréecl answer frani the oplions given below
(A} (2) mmad (4) omly (B) 1) and (4).only
(G (1) and (2) only My (1 apnd 43 enly
il vt o from o
(1 feemes wiw W wnt ofee o e fom wPn kN
2y femroe win & spem @ aooason faeliee o e owed el kG
i3 frrem wdw A v wE wewm @ owed @ e
4} Mﬂﬂﬂﬂﬂmﬂqﬂmh
Ry ot 4 4wt TR W g vt
(A) Wy (2) *i (4) (B) W ) o)

() W () e D) (1) ¥ 3
TBC: 2aP1—A &Y PT.O



81,

Mutch List | with List 1 :

Limt-1 Limt-11
{Scheme) PSLatad
il Vahan Mitrn Schome i Rassthan
by Indira Ranos Yopana W Madhyn Pradoak
et Emissicns Trading Scheme G} Andbrs Pradesh
i Caushala Project G Gujmt

Choose the eorreet answer from the options given I:_rjn';f

day &) @) Gl
AY ) Gy (D
W) Wil @0
W) e W (s )

5
B Wy W e (i \QQ)\{
| y o¥

et 1w w11 feer Wit F{&

et |

(vl m
(n) Wm fom Teis AR
81 fhem Teif s i ma
() TEHS R S Q)WJﬂﬂ'ﬂ

Ll



82 Match List I with List 11 :

List-l List-11
(Headquartors) {Hoard )
(g} Guntur 5}  Caffee Board
by Bengalure iy Tebawwo Hoard
e} Kattayam (i} Tea Board
(dd) Holksta {ip) Rubbsr Board
Choose the cormect answer from the options given below
@ & )

A wh  Uh i )
@) 0 O ()
) ) (w) @@ o
My D W W@ )
it 1w ot 11 R feem W

et 1 Wt 1
([maTEr) (wiref)
in) TR Gy W s
i) e () ey v
() W (i) il
id) WS (i) TAE W
drl oy oy fawrd] F @ oWl aw oW T WA

(B e

(A (0 dE) ) G
(B)y (@ A0 i)
(Ch G G} W) W)
M Wl ) e
TBC : TP T=—NA &9 RT.0.



B Muotch List T with Lést 11 ¢

List-I List-11
(Vijayanagar Kingw) (Dynasty)
() Viropaksha-Il W)  Sengam
(B Achyata Ray iy Tolova
@) Srirmogel UN)  Aravide
) Thimma i) Saluva

Choose the rorreet answor from the options given below -
fa) ) &) ()
LAY {0 M) (E) Qi)
() M} Gy ) D
) ) G B
My Gy Wl G
W A I W e oS -

wlt | it I
(P Tram) {wf)
() Preme-1 Wy s
(b)WY (W) e
() -] (i) iy
() P () TR

ﬂhmhﬂiﬁﬂmmwﬂm:
a) . ) )} ()

AN I G i) G

B &y @ o) (EH

() ) &) O G

D Ge) W @ W
THC : 22 PT—A &0



i
B4, Match List 1 with List 1I :

Liwi-] List-11
{(lmporiant wars iEnd with Treaty)
in} Firnt Carmnatic War iy Trewty of Madras
() Third Carnatic War ) Treaty of Mangalore

(e} First Anglo-Mysore War (4}  Treaty of Paris
() Second Anglo-Myesre War (o) Treaty of Aix-la-Chapelle
Chease the correct answer from the options gwven lelow
W B
A} Wy W W (e
(B) firy (6} O (D
(Ch Gl dind 40 AErd
(D GE) (@) GE) A
o 1w g O R fem et

Tt 1 w11
(awrrged ) (aifis ¥ v
(o) WM wHEw IF ) e i
by i sl Iz ‘W Ty wh vife
) v wbew-thr g Wiy e = e
i) fedm atm-Sq g iip} TSI W i

ik ey, o, Tl E @ Wl TR W W W
(@ b ) Adh
(A U Gy GE) )
B Gyl D (D
g O 1T ¥ T 1
0 W G e
TR - FUPT—A Al PT.O.



85, Match List 1 with List 11 -

List-1 Lise-11
ilmportant HattlesWar) (Year)
ta)  Battle of Machhiwara Wy 1532
(b}  Hattle of Bilgram W 1565
e} Battle of Rakehasi-Tangadi  Ga) 1555
@ Battle of Dehariva ey 1540

Choose the correct answer from the oplions grven below
@) @) &) @b
Ay ) () i)
By ) om W W
0CF Ga) e (0 ()
D) Ga) ) dul )
o 1w g 1T 8 foem witfd

i 1 Ll
(e T (k)
(o) WEiWTR W YT i 1653
by foers o () 16B5
) TAEE-AmR W T iy 1585
() heftm W oE ) 1540

i frg vy freed 4wl o W e Wi
Gmh (bl i)
LAY BN Lieh oG )
(B Gy (e () G
€ G ) 6 G
':!.li W) G L) G
TBO - 23 P T—A i



-
86, Match List 1 with List 11 :

List-1
{Pasu)

(g} Miti Pasa .

1b)  Rohtang Pass ()

(¢} Likhapani Pass iy

el Khunjorh Foss ; if1r)

List-TI
iFlaeel |
Arunsclial P'l'll-lh;l-lil-
Laduhls

Himnchal Prodesly

LT Ty 4T

Chodds the correct anawer from the options given below. «

Wl W ed id)
(A} tid LRED B L)

(B ) G () ) %
(€ R Gh G AU
Rt o) G i Ai
weh w1 R e e /e”*"\-
o 1 ‘ 'I"" n
h tum
fm) Py e ugx mﬂn
by e mal \rm =
e} Formmwd) @3’ (i) =T AT
W) wgrhos k{“ i) AT

'—#ﬁh«mﬁ'ﬁ-ﬁﬁﬂMIﬂwi‘ﬁij

iﬂ ﬂr.l- ) i

mr fawi- @r i

} 1@ @-} a‘hﬂm W W
| N {Ub/bﬂ Ay (W

IIW wi) Gt WhooWm
THE < 20 —A G

P.T.0,



B7. Match List | with List 11 .

List-1 Lisi-11
[Daahs) iRivers)
@) DBist Doab L) Between Chenab and Jholum
b} Chaj Doob ) Boetweon Beas and Bavi
e} Hari Daab it Between Jhelum and Todue
il Sind Doub Giv) Petween Béas and Sutlel

Chouse the correet answer from the options given below :
fa} (&) &) W)

CAY D D ()

B twd G UEd e

(1 ) W da

i el () ()

ﬂ]mﬂﬁﬂﬂ'ﬁ?ﬂﬂm

e | '1*!["

(erzaa) )
Gy Tercw Sxme i P w dem o wa
by AT E gy wET W TRR % W
{c) Wt ‘i) frem w By ok T
idh Py e ljp) =R W TOTE W R

it firm. m P i i' i om oW g el
ta | i1 e
-I.M- iﬂ A} i) tiw)
B e O
(Y dgh (W w0
D G D @D
TBC : 24 P1—A 64



B8. Match List I with List 11 -

List-1 Liast11
@) Domestie Violence At W 198]
i) Sewual Harmssmont ot i 1987
warkplace
fe)  Commissson for Saly Gy 2013
{Prevention) Act
i) Dowry Prohibetion Act Gir) 2005

Choose the cormect answer frum the options grven below -

G b Ged i)
(A) G (M) Y i
B Ged u) G 0
Cr Gl ) D
M0 () & ) W

W 1wl I3 fe o
1 q¥
i) WA M W i 1861
by wrber s dw e i 1987
o) (P s w2003
i) TER T w0 i) 2005

1. frw g fowesll -9 Wit T W I
@b e b

WD i )

W Wy G

6 @ i

AU 6 ) ()

THC - 23 PT—A s

P.T.0,



80, Match List I with List 11 :

List-1 List-11
(a) Organisstion of Village ) Artice &4
Parnchoyal
ik} Promotion of International 1 Artkle 39A
Peace and Securily
i) Uniferm Civil Code [aa)  Article 40
(i Egual Justice and Pres iz} Article Bl
legal aid

Chesso the correrf nnswer from the options given bedow |
@y @& © )

(A ) WD Ged W

By ) Gy A ()

(0 Gy Ged W G

Dy dwed b u)  CEED

st 1w el @ foemy wikfed

Tt 1 Tt 11
(@) WH TR W T (i), R 44
(b swriefm vl W Hon G Eue 39A
i sl
e} T site wiem (i@} = 40
() TEM =g W PR lip) ST 51
fufirs e

A oy feeed @ @ wl TR W O wad -
wy B i i
W) G0 G e 0
@ D D e
(G U W) W
Ay Ged 0 W0
TBC : 23PT-A i



). Match List I with List IT ¢
Lini-l
e} Crotical Migimam Effort
Hyputhesn
i) Theory of Socin] Dualism
fe}  Low-level Equilibrium Trap
{d)  Thiery of Technological
Dhsalism

%nmhmwimwﬁmﬂﬂmmmn:

ta) (B @) i)
) G0 W e
B) W W (G
C) ) @ ) o
D3 Ge) B W Wi
I W\ e W e i

ol 1

(a} et = wew dfteern
&) wmfaw the W fegm
ey Frer-wiln spm wm
o) meltet gl w g

Lint-I1
iy Boalke

) Higgina
el Nelson

L
(T ¢
i) fdiha
(i) fefim
(i) eem

ﬁh_rrqhnﬂiimmnp-m;

tah, ) e )
AN GH) G} 0 G (D
By W ) &) @D
(C) ) ) () (D
My ) W G

TBC : TwFP1—A 67
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81. Match List 1 with List I1 :
Liat-1 Liet-11
{a) “Development ag Freadom”™ () Amartys Sen
) “Fault Lines : How Hidden (0 Raghuram Rajan
Fractures Still Threalen
the World Econamy™
i) “India : The Emerging Giant® (i) Montek Singh Ahluwalia
{d “The Making of Indis : e} . Rangarajan
Econamic Pelicy and
Mationaliem, 1947-2017"
Choose the correct answer from the options given balow :
{a) & & i
(A D o W
| @ W En e
(C) ) () LE) LD
my @ @ () e
we | W R 11 @ foem wE
e o 0
) “vetwm % own d et @ A A9
) “wie owym oW TR D YOOR A
dymd fa 7 o
mﬂu
) “efem : oyl W't i R Ty et
) "z Wen e ey ey W TR
Wifa ol meEe, wer-2017"
4 fep . fympd! @ @ Wi TR oW T Wi
@) B i)
(A} lEdy U} Gw) L)
(B} W) U) ) G
(Cy o) (0 &) GEi
My @ ) )
TBC : 22P1—A B8



L= Maich List | with List II :

List-] List-11
iEavironmentil Polley) {Yeour}
e} Wildlife Conservation Strategylil 2014

&) National Biodiversity Action L) 1991

Plan
{r)  Notional Forest Policy () 2002
i}  MNational Zeo Policy Gir) 10968

Choosp the correct answer from the oplions given below ;
fal Al el D

(AY (&) ) W D

(RY () @y Uy G

(7 T 7T VT 1

N mh W e @

w0 h foam e
i Th I

(wwtarer Hifa) )

fa} wN-W Fwm TeEifn (i 2014

&) e dn-fdmon =l g e e

) e s i) - 2002

(o Trefra fafyaran =ity ligh 1988

# frg me et 40 W Tm oW e i
ta] () T i)

AN ) e W) G

By o) ) W @0

L oL 1 T T 11}

M A G ) G
TBC : 24P 1—A i - PTO.



8. Match List I with Lisc [I :

List-1 Lim-1I
(Vitamin™ineral) |5y ploma)
{al Irom iy Wenk musclea
b} Todime (i) Ansémin
e} Caleium (7} Monial dizability in children
i) Vitamin BRI v} Tooth deeay

Choose the correct anpwer from the options given bolew |
s} &) &) )

(A} Gy (m) led )
B ey WD
() ) (o) F el

M 0 ) Ged ()
g 1w W I f fem wies

et 1 T
i T erme)
ta) ¥ i (gem
ihy s W) Ew
ie)  Hieerm (i) wed| B wovfew fawramm
) fresfi;m B1 (i) W
#it o vy fewrd & @ Wi T oW pEe wifed

) by Vel )

AD @ @ e
(Bh Gy Gl W)

0 D G
@D e

%

TBC @



Mnoteh List T with Liet 11 ¢

List-1 List-I1
Quantity) {(Unit of Measurement)
) Weght i}  Cuobic meter
) Volume i) MNewton
e} Tempersture itif) Pascal
@) Pressure )  Kelvin

Choose the correct naswer from the eptions given below |
i@ ) ) )

(A} {o}  (w) (D) (D

By W M ) wd)

() ) w0 G W

N G i Ged

it 1w ot 11 G foem R

w1 et 11

(mrfen (o)
(@} WH Wy W O
ih) ) =gEn
o) TR {i} WNTERE
) =W (i) Wiy

9 frg o feedl o @ i e W o e
@l e
(AY @) G 0 G
By G0 0 (o) )
) G0 ) e @)
My ) ) @) @h
THC ¢+ T2/B1—A T ' PT.O,



a5, Match List [ with Limt I1

List-1 Liwt-11
iDufence Exercise) iParticipant Counirice)
ta) - Buryw Hiran i1 Indin s Indenesin
k) Garwda Shakti iy Inehin smd Nepal
bch  Vijuy Prahar i} Indis and Singupore
idy SIMBEX ey India and 17SA

Chooss the correcf answer from the options givea below |
by B fed
tAY 0 (kD M) R
(R} (@)  Gmw) i) (0
W D B ey ()
i G Gwb Gl W)
wet 1w w11 % foom wifed . /
et 1 it 1

e smam) (a0

tay T PR R

by Ty TR f.rfl v W

i) Fawg wET tary s o fEmg

i) fomam (iy) TN W oy T s

-y frent B0 wh e w o AR
fal ri!rp &) ()
(A) AR ) i e
WE) D 0 W WD
e G D ) D
) G Gy G
TBO : ZVFI—A T2
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8. Match List I with List 1T :

List-l
{Epithets
g} Land of Snow
b} Cranite City
e} White City
(ef)  Poarl of Orent

List-11
ICountry)
il Admeredimrn
i}  Canads
(ui)  Belgrade
{rr)  Hong' Rong

Chovse the correcl answer from the optons given below .

wh by 2 )
(A U G Lo D
(B D D
G ol Wy e D
D) ) ) e (D

et | ot I @ feem witen

w1
(ifirdr)
(my woE wh i
b T e
e W T
() T W W

CLiR
A
i gt
(W) R
i) - e

Li} Wi

it g g feeed 0 @ Wit ww oW pe ot

G m e id)

(AY D 06 () ()

(B} W) N W W)

(0} () Rn (a6

(DY W )y dey @O
TBC : EPI—A

71 PT.O.



#7. Mnwh List T with Lisz IT :

List-1 Lise-11
iOrganizations) (Year)
)  Duajam Movemont iy 18438
(b}  All Indin State People (i 1938

Conforonce
e} Himoloymn Riynsati Prajn o) 1808

Mundml
id} Kunihar Praja Mandal ficd 1927

Choose the correct answer from the options given below :
tad @) ) ()

LAY ) G U i)

(B} @ ) G G

(Cr o) @ W

My W @ @ @

T 1w P 1N e e

et 1 et 1
{treean) (e
fg) TETR M (THRN

ib) e vl TS W WEREE G 1938
ic) T froml v g2 Ga) 1906
() s T aEa iy 1922
i fom oy freed B wf o W g wifed
) ) ) wh
(A) I () G e
1B () Qi) Oy D
G0 (ieY) Y D
) i W o

TBC : 23T1-—A 74



Mateh Lisg | with List I

List:] List-I
(Mstrict) iHeeerved Forest Aren
in Sq. Km. in 2019-20)
irh Chamba {n 1050
iy Kuallu fu) AT
¢} Birmaor (i 164
@) Kangrn el 70

Chocse the carrect answer from Lhe options given bulow :
wh ) &) ()
A Gl W W ()
By fg) e} O (R
iy ) )y o)
o G W ) )
i w1 d e wfed

it | &
() (2019-20. 9 wnfigm
g wf fesinder )
) e W’ 1080
b W 374
) feok i) 154
t} whrp i) 70

i fen o fewrd @ wh TR W T W
g b leh
A D W W e
M) W0 W e
W G o) G
W G
TRC : ZaFil—A 75 P.T.O.



9. Mateh Liet | with List [1 :

List-1 List-11

{a) Himachal Pradesh Skill W 2018
Developeent Preject

) Himachal Pradech Koushal i) 2017
Vikas Migam

(e}  Mukhys Mantri Yuva (i 2014
Ajivika Yojana

) Himachal Grihini Suvsdha (o) 2019
Yojana

Choose the correct answer from the options given below
a) (B) {e) Ud)

(A} () @ (ud )
(BY L} W Gl )
(Cy Gwd 3 G Gk
(N (B iy GE) cied
well 1w Wl I & e Wil

it | Tt 1
tay o wim vy fewm D 2008
nfrérare
(&) femem wiw wiem femnm | (W) 2017

femg

i Wﬂmmﬂhﬂhu‘r 30

{ﬂmwﬂgﬁﬂtﬂ el 2019

i fen my foeed @ 0wl Te W T W
) by W WD

WAy GG )

B G W G )

(Ch el o) D G

W W )

TBC : Z3'P1-—-A 76



100. Match List 1 with List IT

Limt-1 List-I1
(Dhstrict) (Wildlife Sanctuary)
fa} Rinnaur () Rupi Bhaba
ib)  Chamba @) Sochu Tuan MNala
ted  Mundi lez)  Hibber
@) Lahaul and Spiti G} Marg
Choose the correc answer from the options given below -
) B & wh

(A GF G G Gied
(B} Ged ) o) 0
Gl ) e (D (I
W ey () {80
| W e I R fem wifed

1 w1
(P (wardta snreTrem
{a) Pt . wh wm
{&) e &) Wy gwm W
o) v (iid)  Fae
() vmim T wiy (i) W
i frg . ewed A 4 i Tm W w W
@) B @& ()

(AY () W) Gud ()
(B} tw) ) WD D
) ) ey @ (&
W W ) G
TRC : ZATI—A 7 PTO
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